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. scientific notation

A

synthetic division
FOIL method
monomial
extraneous solution
Complex conjugates
aguare root

. trinomial

© WA DU w0

principal root
10. imaginary unit

Pages 276-280 Lesson-by-Lesson Review
11. f—'i’ .fiL :',r—7+4
3

—f
_1
N
12: (3x72P = 32 - (2
= 33(x2'3)
= 27x6
18. (2y)(4xy®) =2 -4 - xyl +3
/ 2
14. (5¢%)(5ed) = 53¢ - gc?d?
=%-c2+2'f1—d2
16
= Ec4fd2

15. (2000)(85,000) = (2 x 10%)(8.5 X 10%)
=2.85x 103 +4
=17 x 107
=1.7 % 108
16. (0.0014)2 = (1.4 x 1073)2
= (1.4)2 X (1073)2

=196 x 106
5.400,000 5.4 % 10°
17. 6000 6 108
5.4 -
=5 X 168 —3
= 0.9 x 103

RS o T I



111208 5.7 5.8 5.9.notebook

18.

19.

20.

21.

22,

23.

24,

26.

(de — B) —(c+ 11) + (—6c + 17)
=4c—5—¢—11 — 6c + 17
=(4c—c—6c)+(—5—11+17)
=—3e+1

(1122 + 13x — 15) — (Tx%2 — 9x + 19)
=11x2 + 13x — 15 — Tx2 + 9x — 19
= (11x% — 7x%) + (13x + 9x) + (—15 — 19)
=422 + 22x — 34

—6m2(3mn + 13m — 5n)
= —6m3(3mn) — 6m313m) — 6m% —hn)
= —18m3n — 78m® + 30m?2n

x8y10(x11 =9 4 51056
= xSy10(x1ly—9) | x—8,10(510y6)

- x3_'}/ =2 xﬂyd

(d—5)d+3)=d>+3d—-5d—5-3

=d?-2d-15

(2a% + 6)2 = (2a?)? + 2(2a®)(6) + 62

= 4q* + 24a? + 36

(26 — 3¢)®
= (2b)3 + 3(2b)%(—3c) + 3(2b)(—3c)? + (—3c)?
= 8b3 — 36b2c + H4bcZ — 273

ﬂz 5 1 =3 -8

6 0 3 0
2 0 1 0] -3
(2x* —6x*+x2—-3x—-3)=-(x—3)

3
il -
=2x° +x Py

-1j10 54 0 -9
-10 5 -9 9
10 -5 9 -9 0
(10x*+ 53 +4x2 -9 )+ (x+ 1)
=103 — 5x2+9x — 9

31.

32,

33.

34.

36.

37.

38.

39.
40.
41.

42,

43

December 09, 2011

5w — 20w? + 3w — 12
= (hw?® — 20w?) + (3w — 12)
=hww —4) + 3w — 4)
=(w — 4)5w? + 3)
xt — T3 + 1242
=a2x2 — Tx + 12)
=x%x% — 4x — 3x + 12)
=x2[x(x — 4) — 3(x — 4)]
=x%x — 3)x — 4)
s +512 =¢% + 83
=(s — 8)(s® + 8s + 8?)
= (s — 8)(s?2 + 8s + 64)
x%2 — Tx + 5 1s prime
. +V256 = +\/162
==k TH

V/-216 = V(—6)3

Verd?® = Veb(d3)®
= V(cd3P

Vixt= 3P= |at—3|
V(512 + x2)3 = 512 + a2
V16m® = V24m2y*

Vaz— 10a + 25 =Via — 5)2
=la— 5|

. V128 =V28-2

=V/26-V/2

= gV

14
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27'A 1 =5 +4

1 4
1 4\ 0
2 —hx+4) +-x—1=x—-4
28. (5x* + 18x3 + 10x2 + 3x) + (22 + 3x)
=x(5x% + 18x%2 +10x + 3) ~ x(x + 3)
=B+ 182+ 10x+3) + (x + 3)

ﬂ 5 18 10 3
~15 -9 -3
5 3 1] 0

(5xt + 18x% + 1022 + 3x) + (x2 + 3x)

=5x?+ 3x+1
29, 20022 — 50 =50-4x2 + 50 - (—1)
=50(4x2 — 1)

=502x — 1)(2x + 1)
30. 10a® — 20a% — 2a¢ + 4
= 2(5¢® — 10a? — a + 2)
= 2[(5a® — 10a?) + (—a + 2)]
= 2[5a%(a — 2) — 1lla — 2)]
2a — 2)(5a® — 1)

44.

45.

46.

47.

48.
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VE+V20=V5+V22.5
=V5+V22-V5
=V5+2V5
=3V5

5V12 - 3V75=5V22.3-3Vh2 .3
=5-V22-V3-3-V52.V3

Tt

=5-2V3-3-5V3
=10V3 — 15V3
= -5V3
6V11 — 8V11 = (6 — 8)V11
—oV/11

(V8 + V12)% = (VB)* + 2(vV8)(V12) + (V12
=8+2V8. 12 +12
=20+2V4-6
=20+2-V4-V6
=20+2-4-V6
=20 + 8V6

V8-V15-V21=V8. 15 21

=4.-2.3-5-7-3
=v22.V32.v2.5.7
=2.3V2.5-7
=6V70

15
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3-V5

V104 — V2)

4+ V2)4 — V7)

4V10 - (V10X V2)
42 — (V2)2

4V10 - V10 -2

4NV10-V22-5

14
410 — 2V5
14
2(2v10 — VB)
14
2v10 - V5
7

52. 27-5 = (33—
- 3;31{:—-3-3
=32

58.

59.

60.

61.

62.

63.

64.
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The square root of a real number cannot be
negative. There is no solution.

Vx+5-3=0

16
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b3.

b6.

57.

=81
1)—% . (2_3)—%
27) — \38
-]
s
_ (2)55 -3
==\
| (‘2]‘2
—\3
e
=(3)
_9
=3
1 1 yi
vy oy
_¥
¥
xy ]
=
xy:i
= FE
23 -23
_ xy:'i
3x + 42 2
—— = x3(3x + 4x?)
2 3
= 3xs + Ly g 2
5 8
=3xs + 4xn
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2% =17
x=85b
65. Vy+5=V2% -3
(Vy+57F=(Vay — 3°
y+5=2y—-3

y=28
gl Ve T Ty 4 =8
Vy+1l=5—-Vy—4
Vy+ 17 = Vy —4)f

(5 —
y+1=52-2.-5Vy—4+(Vy—4)7?
y+1=25—-10Vy —4+vy— 4
—20=—-10Vy — 4

2=Vy—4
22 = (Vy — 47
4=y -4
8=y
67. V—-64m2=V-1-8%- (m5?2
=V-1-V82- - Vimb?

= 8mbi
68. (7T—4i)— (-3 +6i)=7T—4i+3—6i
=(T+3)+(—4 —6)
=10 — 10¢

69. —6V—-9-2V—4 = —6iV9 - 2iV4
= (—6i)20)V9 - 4

= —12i2V62
= —12(—1)(6)
=172

17
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Y105+ 41D — Z1) = 1b — bl + Zul — BI~
=15+ 14i — 8(—-1)

=15+ 14i + 8
=923 + 144
72. (V6 + )(V6 — i) = (VB)?2 — i2
=6—-(—1)
=6+1
=7
1+i (1+iNl+i)
73. 1-i (A—-dl+1i
_ 1P+2-1-i+d
12_1‘2
1421
~ 1-(-1
_2
2
=1
4-3i  (4-— 31— 20
4. 1 = (1 + 2001 20)

3 -9

4 — 8i — 3i + 6i®
12— (202
4 11i +6(—1)
1-4-1

4-11i -6
1+4
2 11i
5
2 11,
5 P
(3 — 9i)(4 — 2i)

75. 4+2i

(4 + 2i)4 — 2i)
12 — Bi — 36i + 18

42 — (2i)2
12 — 42i + 18(—1)
42 — 4(-1)
12 — 42i — 18
16 + 4
—6 — 42§
20
2(—3 — 214)
20
-3 — 21
10
3 21.

= 710 T 10?
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